

## Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

**Project Name: Slauson Blue Line Station Intersection Improvements** 

Project ID: RDC0016317
Rids Opened: 1/10/2023

Bids Opened: 1/10/2023 Project Manager: Robert Vitug n/a

			Engineer's Estimate		(1) Excel Paving Company		(2) Acces	(2) Access Pacific, Inc.					
(1) Pre	liminary Bid Amount					\$	1,764,264.00	Ş	\$2,417,211.89				
(2) Un	t Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	<b>Unit Price</b>	<u>Unit</u>	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>	Unit Price	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>
1	CONSTRUCTION SCHEDULE	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00				
	(BASELINE) (STIPULATED UNIT												
	PRICE OF \$2,500)												
2	CONSTRUCTION SCHEDULE	3	\$500.00	MTH	\$1,500.00	\$1,500.00	\$4,500.00	\$1,500.00	\$4,500.00				
	(UPDATE) (STIPULATED UNIT												
	PRICE OF \$500/MONTH)		\$1,000.00	1.0	£1,000,00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00				
3	CONSTRUCTION SCHEDULE	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00				
	(AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)												
4	IMPLEMENTATION OF BMPS	1	\$15,000.00	LS	\$15,000.00	\$16,000.00	\$16,000.00	\$22,442.88	\$22,442.88				
5	OFFICE FACILITIES	4	\$5,000.00	MTH	\$20,000.00	\$4,000.00	\$16,000.00	\$7,480.96	\$29,923.84				
6	MOBILIZATION	<u>.</u>	\$130,000.00	LS	\$130,000.00	\$168,000.00	\$168,000.00	\$112,214.42	\$112,214.42				
7	ROOT PRUNE TREE (INCL	1	\$1,600.00	EA	\$1,600.00	\$1,400.00	\$1,400.00	\$2,244.29	\$2,244.29				
	ROOT CONTROL BARRIER)												
8	TREE REMOVAL (25"+	2	\$3,000.00	EA	\$6,000.00	\$3,800.00	\$7,600.00	\$5,236.67	\$10,473.34				
	DIAMETER)												
9	CONCRETE REMOVAL (NON-	242	\$300.00	CY	\$72,600.00	\$250.00	\$60,500.00	\$523.67	\$126,728.14				
	REINFORCED)												
10	CONCRETE REMOVAL	2	\$1,000.00	CY	\$2,000.00	\$500.00	\$1,000.00	\$748.10	\$1,496.20				
44	(REINFORCED)	4.400	\$185.00	CY	\$270,655.00	\$195.00	\$285,285.00	\$261.83	\$383,057.29				
11	UNCLASSIFIED EXCAVATION	1463						<u> </u>	· ·				
12	CRUSHED MISCELLANEOUS BASE	908	\$145.00	CY	\$131,660.00	\$130.00	\$118,040.00	\$269.31	\$244,533.48				
13	AC PAVEMENT	176	\$230.00	TON	\$40,480.00	\$300.00	\$52,800.00	\$344.12	\$60,565.12				
14	TEMPORARY AC PAVEMENT	<u> 170</u>	\$330.00		\$1,650.00	\$600.00	\$3,000.00	\$748.10	\$3,740.50				
14	(PATCH BACK)	5	Ψ000.00	ION	ψ1,000.00	Ψ000.00	ψο,οοο.οο	φι το. το	ψο,1 40.00				
	(17(1011)												

**Project Name: Slauson Blue Line Station Intersection Improvements** 

Project ID: RDC0016317 Bids Opened: 1/10/2023 Project Manager: Robert Vitug n/a

		Engin	eer's Estimate	r's Estimate (1) Excel Paving Company		(2) Access Pacific, Inc.							
(1) Preliminary Bid Amount						\$	1,764,264.00	\$	2,417,211.89				
(2) Unit Price Detail													
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	<b>Unit Price</b>	<u>Unit</u>	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>	Unit Price	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>
15	AC PAVEMENT(PATCH BACK)	49	\$330.00	TON	\$16,170.00	\$430.00	\$21,070.00	\$374.05	\$18,328.45				
16	RECONSTRUCT MANHOLE	4	\$3,500.00	EA	\$14,000.00	\$3,500.00	\$14,000.00	\$7,480.96	\$29,923.84				
17	PCC PAVEMENT (HIGH EARLY STRENGTH)	449	\$700.00	CY	\$314,300.00	\$930.00	\$417,570.00	\$1,496.19	\$671,789.31				
18	PCC CURB & GUTTER, TYPE A2-6	67	\$63.00	LF	\$4,221.00	\$81.00	\$5,427.00	\$112.21	\$7,518.07				
19	PCC CURB & GUTTER, TYPE A2-8	438	\$80.00	LF	\$35,040.00	\$82.00	\$35,916.00	\$112.21	\$49,147.98				
20	PCC CURB & GUTTER, TYPE A2-VAR	215	\$85.00	LF	\$18,275.00	\$83.00	\$17,845.00	\$112.21	\$24,125.15				
21	PCC CURB & GUTTER, TYPE A2-VAR, W=VAR	11	\$85.00	LF	\$935.00	\$92.00	\$1,012.00	\$112.21	\$1,234.31				
22	PCC WALK & DRIVEWAYS, 4" THICK	5505	\$13.00	SF	\$71,565.00	\$13.00	\$71,565.00	\$13.47	\$74,152.35				
23	PCC CURB RAMPS	23	\$1,500.00	CY	\$34,500.00	\$1,100.00	\$25,300.00	\$2,693.15	\$61,942.45				
24	PCC DRIVEWAYS, 6" THICK	778	\$17.00	SF	\$13,226.00	\$18.00	\$14,004.00	\$23.94	\$18,625.32				
25	DETECTABLE WARNING SURFACE	195	\$65.00	SF	\$12,675.00	\$49.00	\$9,555.00	\$74.81	\$14,587.95				
26	MODIFICATIONS FOR SIDE OPENING CATCH-BASIN PER STD PLAN 314-3	3	\$5,000.00	EA	\$15,000.00	\$9,800.00	\$29,400.00	\$11,221.44	\$33,664.32				
27	FURNISH AND INSTALL AUTOMATIC RETRACTABLE SCREEN (ARS), W=7'	3	\$2,500.00	EA	\$7,500.00	\$2,300.00	\$6,900.00	\$5,984.77	\$17,954.31				
28	REMOVE AND DISPOSE EXISTING AUTOMATIC RETRACTABLE SCREEN (ARS)	3	\$500.00	EA	\$1,500.00	\$800.00	\$2,400.00	\$1,496.19	\$4,488.57				
29	REMOVE AND REINSTALL EXISTING METAL BENCH	1	\$500.00	EA	\$500.00	\$1,500.00	\$1,500.00	\$1,122.14	\$1,122.14				
30	METAL HAND RAILINGS PER STD PLAN 606	47	\$300.00	LF	\$14,100.00	\$450.00	\$21,150.00	\$486.26	\$22,854.22				
31	2" CONDUIT (SCH 80 PVC)	70	\$60.00	LF	\$4,200.00	\$110.00	\$7,700.00	\$164.58	\$11,520.60				
32	3" CONDUIT (SCH 80 PVC)	20	\$80.00	LF	\$1,600.00	\$160.00	\$3,200.00	\$246.87	\$4,937.40				
33	3-CONDUCTOR SIGNAL CABLE (EXCLUDING CONDUIT)	140	\$2.00	LF	\$280.00	\$5.00	\$700.00	\$8.98	\$1,257.20				

**Project Name: Slauson Blue Line Station Intersection Improvements** 

Project ID: RDC0016317 Bids Opened: 1/10/2023 Project Manager: Robert Vitug n/a

				Engine	er's Estimate	mate (1) Excel Paving Company		(2) Access Pacific, Inc.					
(1) Preliminary Bid Amount						\$	1,764,264.00	\$	2,417,211.89				
(2) Unit Price Detail													
<u>Ìtem</u>	<u>Description</u>	Qty	<b>Unit Price</b>	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>
34	5-CONDUCTOR SIGNAL CABLE	31	\$2.50	LF	\$77.50	\$6.00	\$186.00	\$20.95	\$649.45				
	(EXCLUDING CONDUIT)												
35	12-CONDUCTOR SIGNAL	150	\$3.00	LF	\$450.00	\$7.00	\$1,050.00	\$13.47	\$2,020.50				
	CABLE(EXCLUDING CONDUIT)												
36	INDUCTIVE LOOP DETECTOR	1623	\$20.00	LF	\$32,460.00	\$14.00	\$22,722.00	\$25.44	\$41,289.12				
	AND LEADS SAW CUT		#4.000.00		#4.000.00	#0.400.00	<b>20.400.00</b>	00 740 40	00.740.40				
37	REMOVE TYPE 17 STANDARD	1	\$1,300.00	EA	\$1,300.00	\$2,400.00	\$2,400.00	\$3,740.48	\$3,740.48				
- 00	(COMPLETE) (EXCL. FOUND.)		#200 00		£4.000.00	£440.00	#CCO 00	#204.02	£4 570 00				
38	REMOVE PEDESTRIAN HEAD	6	\$300.00	EA	\$1,800.00	\$110.00	\$660.00	\$261.83	\$1,570.98				
39	(COMPLETE) REMOVE WIRING	1	\$500.00	LS	\$500.00	\$600.00	\$600.00	\$4,638.20	\$4,638.20				
40	REMOVE TYPE 17	<u> </u>	\$1,800.00	EA	\$1,800.00	\$3,200.00	\$3,200.00	\$4,488.58	\$4,488.58				
40	FOUNDATION	1	ψ1,000.00	LA	Ψ1,000.00	ψ0,200.00	ψ0,200.00	ψ4,400.00	Ψ4,400.00				
41	TYPE 19 STANDARD	1	\$19,000.00	EA	\$19,000.00	\$19,000.00	\$19,000.00	\$17,954.31	\$17,954.31				
42	TYPE 19 STANDARD	1	\$5,000.00	EA	\$5,000.00	\$5,000.00	\$5,000.00	\$8,977.15	\$8,977.15				
72	FOUNDATION		, -,	L/ (	, , , , , , , , ,	V = V = = = = =	, , , , , , , , ,	7 - 7 -	, -, -				
43	25' SIGNAL MAST ARM	1	\$4,600.00	EA	\$4,600.00	\$6,000.00	\$6,000.00	\$7,181.72	\$7,181.72				
44	12' LUMINAIRE MAST ARM	1	\$2,000.00	EA	\$2,000.00	\$2,000.00	\$2,000.00	\$2,543.53	\$2,543.53				
45	PEDESTRIAN PUSH BUTTON	1	\$150.00	EA	\$150.00	\$160.00	\$160.00	\$448.86	\$448.86				
46	PEDESTRIAN PUSH BUTTON	1	\$100.00	EA	\$100.00	\$30.00	\$30.00	\$299.24	\$299.24				
	PLATE												
47	RETROREFLECTIVE STREET	1	\$500.00	EA	\$500.00	\$1,400.00	\$1,400.00	\$1,412.41	\$1,412.41				_
	NAME SIGN												
48	3-12" LED VEHICLE HEAD	1	\$1,500.00	EA	\$1,500.00	\$1,600.00	\$1,600.00	\$2,992.38	\$2,992.38				
	(COMPLETE)				20.000.00		24.400.00	21.00	21.001.00				
49	DETAIL 9 (THERMOPLASTIC)	734	\$3.00	LF	\$2,202.00	\$2.00	\$1,468.00	\$1.80	\$1,321.20				
50	DETAIL 22 (THERMOPLASTIC)	295	\$5.00	LF	\$1,475.00	\$2.00	\$590.00	\$2.77	\$817.15				
51	DETAIL 27 (THERMOPLASTIC)	60	\$3.00	LF	\$180.00	\$2.00	\$120.00	\$2.24	\$134.40				
52	DETAIL 38 (THERMOPLASTIC)	185	\$3.00	LF	\$555.00	\$2.00	\$370.00	\$2.77	\$512.45				
53	PAVEMENT MARKINGS (THERMOPLASTIC)	180	\$7.00	SF	\$1,260.00	\$10.00	\$1,800.00	\$14.21	\$2,557.80				
54	12" STRIPING	408	\$8.00	LF	\$3,264.00	\$4.00	\$1,632.00	\$5.98	\$2,439.84				
	(THERMOPLASTIC)												
55	24" STRIPING	2368	\$12.00	LF	\$28,416.00	\$8.00	\$18,944.00	\$10.62	\$25,148.16				
	(THERMOPLASTIC)												

**Project Name: Slauson Blue Line Station Intersection Improvements** 

Project ID: RDC0016317 Bids Opened: 1/10/2023 Project Manager: Robert Vitug n/a

			Engir	Engineer's Estimate (1) Excel Paving Compa		ving Company	(2) Acc	ess Pacific, Inc.					
(1) Preliminary Bid Amount						;	\$1,764,264.00		\$2,417,211.89				
(2) Uni	t Price Detail												
<u>ltem</u>	<u>Description</u>	Qty	<b>Unit Price</b>	<u>Unit</u>	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>
56	REMOVE DETAIL 22	295	\$8.00	LF	\$2,360.00	\$5.00	\$1,475.00	\$7.26	\$2,141.70				
	(THERMOPLASTIC)												
57	REMOVE DETAIL 38	70	\$5.00	LF	\$350.00	\$5.00	\$350.00	\$7.26	\$508.20				
	(THERMOPLASTIC)												
58	REMOVE DETAIL 9	835	\$5.00	LF	\$4,175.00	\$4.00	\$3,340.00	\$5.24	\$4,375.40				
	(THERMOPLASTIC)												
59	REMOVE PAVEMENT	180	\$8.00	SF	\$1,440.00	\$6.00	\$1,080.00	\$8.08	\$1,454.40				
	MARKINGS (THERMOPLASTIC)												
60	REMOVE 12" STRIPING	1228	\$8.00	LF	\$9,824.00	\$6.00	\$7,368.00	\$8.08	\$9,922.24				_
	(THERMOPLASTIC)												
61	INSTALL FIRE HYDRANT	6	\$200.00	EΑ	\$1,200.00	\$20.00	\$120.00	\$29.92	\$179.52				
	LOCATION RPM												
62	RELOCATE SIGN	1	\$400.00	EA	\$400.00	\$400.00	\$400.00	\$583.51	\$583.51				
63	TRAFFIC CONTROL	1	\$50,000.00	LS	\$50,000.00	\$143,000.00	\$143,000.00	\$89,771.53	\$89,771.53				
64	FLASHING ARROW SIGN	3	\$5,000.00	EA	\$15,000.00	\$2,000.00	\$6,000.00	\$6,732.87	\$20,198.61				
65	CHANGEABLE MESSAGE SIGN	4	\$5,500.00	EA	\$22,000.00	\$3,600.00	\$14,400.00	\$6,732.87	\$26,931.48				
66	8' STRAIGHT MAST ARM	1	\$2,000.00	EA	\$2,000.00	\$3,000.00	\$3,000.00	\$3,142.00	\$3,142.00				
67	COUNTDOWN PEDESTRIAN	7	\$1,500.00	EΑ	\$10,500.00	\$1,200.00	\$8,400.00	\$1,645.81	\$11,520.67				_
	HEAD (COMPLETE)												
68	250 W LUMINAIRE LED	1	\$400.00	EA	\$400.00	\$700.00	\$700.00	\$2,244.29	\$2,244.29				
69	#3 COMPOSITE PULLBOX	4	\$700.00	EA	\$2,800.00	\$1,800.00	\$7,200.00	\$1,196.95	\$4,787.80				
70	NO. 6 PULL BOX	19	\$610.00	EA	\$11,590.00	\$1,700.00	\$32,300.00	\$1,645.81	\$31,270.39				
71	2-PAIR DETECTOR LEAD-IN	15	\$4.00	LF	\$60.00	\$24.00	\$360.00	\$29.92	\$448.80				_
	CABLE												
Unit Price Total			\$1,518,920.50		\$1,764,264.00		\$2,417,211.89						
(3) LSBE/DVBE/SE Preference Amount						\$0.00		\$123,498.48					
(4) LSBE/DVBE/SE Adjusted Amount						\$1,764,264.00		\$2,293,713.41					
Comments						LOW BIDDER		, ,,					
Comments				/ U I / U \ _ I \ I									